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Warm Up
4. Find the solution set to each inequaiity. Express the solution in set notation.
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Statement
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Astudent will study German for}cﬁ Ieosi 3 years. G> _';

All employeesworkm hours. \/\}4 L—}O
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There ore{ af least 35 peoplq in the emergency room“'_g_lf

The carton holds!oi most 12 ngs. E f_ I D\

There areyno more than 10 gallonsjof gas in the Tcnl& =0

There orelfewer than 10 vardy of fabric left. “F_L 'D

The temperature 'ISSCI bove 32°F.S ‘ > 39\

s
Years of experiencelounnm be less than 5 yeorﬂ?’i 3

X;’_H\O\no‘o \*’YX\J& O CooK)es
FLa
£
KQ(QCM agked ’QO 5

K25
T

K<

Oct 4-11:13 AM

[ihe diagrams below.

inequality for each graph shown above:

Graph 2:

Graph 4:
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1. 2x>4x-6 2, Ty+l=sy-5
3. 27x+ 33 >58x =29 4 =3r<10=r
[~ 5. S5c—4>8c+2 6. 45x—3.8=1.5x-23
7. School The school band will sell pizzas to raise money for new uniforms. The

8. 5(4 +x) < 3(2 + x) 9. —4(3 - p)>5(p+1)
10. 2(6 — x) < 4x 1M, 4x>3(7 - %)

Ly, 3.1 T -

| 12 5/ g=4) 13, —36.72 + 5.651 < 0.25¢

L 17. b-4z=b-s 18. 3(x - 5) > 3x 19. 2k+ 7= 2(k+ 14)
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Solve each inequality and graph the solutions.

supplier charges $100 plus $4 per pizza. If the band members sell the pizzas for
$7 each, how many pizzas will they have to sell to make a profit?

Solve each inequality and graph the solutions.

Solve each inequality.
14, 2(x - 2) = —2(1 — x) 15, 4y + 1) <dy+2 16. v +1<4r-7
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